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Dear Families, 

As we now move into their final year before their GCSE/BTEC exams we at the Manor Academy 

want to provide as much support as possible to ensure your child achieves their very best. To 

support this, we have produced a home learning pack to be completed in the summer break. This 

is supported by research from The Education Endowment Foundation that shows that homework 

has a positive impact on student progress, it can help your child gain up to 5 months additional 

progress on top of their classroom learning. Additionally, it is also proven that long periods of 

inactivity lead to a loss in students’ knowledge and skills therefore the learning support pack will 

enable your child to keep their brains ticking over through the extended break. 

The pack contains English, Maths, Science, History or Geography and RE. 

We have designed the tasks to fit around topic areas all students will be familiar with and have also 

identified from the recent Year 10 assessments that there might be a need for some extra revision 

on some topics. 

All the topic areas will be needed for the coming year studies. The completed booklets will be 

required to be handed into to their tutors when they return in September. There are only 28 

teaching school weeks before the start of examinations and therefore I would be very grateful if 

you can continue to encourage your child to complete all the relevant sections and be fully 

prepared for the new school year.   

 

The Subjects 

English Language & English Literature 

Successful completion of this homework will enable you to close the specific gaps which have 

emerged post end of year assessment. The remedies focus on the high tariff questions or those 

which were marked lowest across the year group. Crafting your creative writing is important in 

creating a compelling narrative and using ‘Upgraded Sentences’ allows you to demonstrate a 

variety of punctuation. By also perfecting your PEEL and PEELAP style paragraphs, you’ll be 

equipped with the skills and knowledge to score highly on the evaluate question. Take your time to 

revise over the 100% sheets and you will be able to complete all of the tasks successfully. 

Maths 

Students perform higher in Maths when they practice Maths. If you’re a keen runner doing little to 

no running would result in decline to your time. The analogy is the same in Maths: 5 weeks without 

doing Maths will have the same effect. By completing the learning tasks set you will be working 

through appropriate, remedies and ensuring pre-requisite knowledge is secure before you start in 

September. 

Science 

Successful completion of this homework will enable you to review, key powerful knowledge and 

feel confident in key scientific concepts of biology, chemistry, and physics. These are challenging 

topics, but the more you re-call the knowledge and explain your scientific ideas behind these 

concepts the better you will be able to master it! Take your time to revise over the 100% sheets and 

you will be able to complete all the tasks successfully. 

History or Geography and RE 

There are many key areas of the Humanities syllabus, and depending on whether you are studying 

History, Geography or RE, we have identified some targeted areas which we believe will really help 

you to be performing higher student in the coming year. By undertaking and completing these 

learning goals you will be in well prepared to learn for the start of your humanities lessons in 

September. 
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Language Paper 1 Question 3 - How does the writer use structure to interest you as 
the reader?
8 marks 
Annotate the extract and find evidence for:
• Introduction of setting
• Introduction of character
• Zooming in
• Dialogue.

This extract is from a novel entitled Private Peaceful, set in 1914 during WWI. In this extract the 

narrator, a 15-year-old soldier, tells us about a gas attack.

We were lulled by the blue skies perhaps, or by sheer boredom. Fritz
seemed to have gone to sleep on us and as far as we were concerned
that suited us fine. We thought we could go to sleep too. The
awakening came suddenly. "Gas! Gas!"

The cry goes up and is echoed all along the trench. For a moment we
are frozen with panic. We have trained for this time and again, but
nonetheless we fumble clumsily, feverishly with our gas masks.

"Fix bayonets!" Hanley's yelling while we're still trying frantically to pull
on our gas masks. We grab our rifles and fix bayonets. We're on the
firestep looking out into no-man's-land, and we see it rolling towards
us, this dreaded killer cloud we have heard so much about but have
never seen
for ourselves until now. Its deadly tendrils are searching ahead, feeling
their way forward in long yellow wisps, scenting me, searching for me.
Then finding me out, the gas turns and drifts straight for me. I'm
shouting inside my gas mask. "Christ! Christ!" Still the gas comes on,
through our wire, swallowing everything in its path.

I hear again in my head the instructor's voice, see him shouting at me
through his mask when we went out on our last exercise. "You're
panicking in there, Peaceful. A gas mask is like God, son.

It'll work bloody miracles for you, but you've got to believe in it." But I
don't believe in it! I don’t believe in miracles.

The gas is only feet away now. In a moment it will be on me, around
me, in me. I crouch down, hiding my face between my knees, hands
over my helmet, praying it will float over my head, over the top of the
trench, seek out someone else. But it does not. It's all around me. I tell
myself I will
not breathe, I must not breathe. Through a yellow mist I see the trench
filling up with it. It drifts into the dugouts, snaking into every nook and
cranny, looking for me. I see men running, staggering, falling. I see
Pete shouting out for me. Then he's grabbing me and we run. Half-
blinded by my mask I trip and fall, crashing my head against the trench
wall, knocking myself half-senseless. My gas mask has come off. I pull it
down, but I have breathed in and know already it's too late. My eyes
are stinging. My lungs are burning. I am coughing, retching, choking. I
don't care where I'm running so long as it is away from the gas. At last
I'm in the
reserve trench and it is clear of gas. I'm out of it. I wrench off my mask,
gasping for good air.

Then I am on my hands and knees, vomiting violently.
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Answer the question - How does the writer use structure to interest you as the reader?
8 marks 

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….
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Brain dump all that you could describe from the image. 
Use as many descriptive features as you can. 

Tier 2 Vocabulary
Stench – a strong, very unpleasant smell
Abundance – A large quantity of something
Startling – very surprising or causing a moment of 
fright

The sun was an angry shade of red and the sky above
cloudless. Not a single bird was in the sky. He wasn’t
surprised. His ears still rang from the booming
bombardment that had continued until the early hours of the
morning. His eyes followed the jagged line of the trench, it
had rained in the night, and the smell of the stinking corpses
crept up his nostrils. Coughing violently he felt the bitter taste
of gunpowder on his lips.

Annotate the sample answer for the descriptive features
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Write a description of the image.
40 marks  

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….
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……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….
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Language Paper 2 Question 27.1 - In 'First Frost' how does the poet present the 
speakers feelings towards love? 24 marks 

Annotate the extract and find evidence to prove how the speaker feels.
Remember to annotate for:
• Title
• Speaker
• Language 
• Structure
• Tone

First Frost

A girl is freezing in a telephone booth,
huddled in her flimsy coat,
her face stained by tears
and smeared with lipstick.

She breathes on her thin little fingers.
Fingers like ice. Glass beads in her ears.

She has to beat her way back alone
down the icy street.

First frost. A beginning of losses.
The first frost of telephone phrases.

It is the start of winter glittering on her cheek,
the first frost of having been hurt.

Andrei Vosnesensky
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……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

Answer the question - In 'First Frost' how does the poet present the speakers feelings towards 
love? 24 marks 
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Language Paper 2 Question 27.1 - In 'First Frost' how does the poet present the 
speakers feelings about the weather? 24 marks 

Annotate the extract and find evidence to prove how the speaker feels.
Remember to annotate for:
• Title
• Speaker
• Language 
• Structure
• Tone

Hard Frost

Frost called to the water Halt
And crusted the moist snow with sparkling salt;
Brooks, their one bridges, stop,
And icicles in long stalactites drop.
And tench in water-holes
Lurk under gluey glass like fish in bowls.

In the hard-rutted lane
At every footstep breaks a brittle pane,
And tinkling trees ice-bound,
Changed into weeping willows, sweep the ground;
Dead boughs take root in ponds
And ferns on windows shoot their ghostly fronds.

But vainly the fierce frost
Interns poor fish, ranks trees in an armed host,
Hangs daggers from house-eaves
And on the windows ferny ambush weaves;
In the long war grown warmer
The sun will strike him dead and strip his armour.

Andrew J Young
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……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

……………………………………………………………………………………………………………………………………………………………………………….

Answer the question - In 'First Frost' how does the poet present the speakers feelings about 
the weather? 
24 marks 
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Week 1 – Science 

 

Mastering Microscopy 

 

Cells range in size: 

• animal cells are between 0.01 mm – 0.05 mm 

• plant cells are between 0.01 mm – 0.10 mm 

The human eye can see objects as small as around 0.05 mm. A microscope is required to see cells in any 
detail. 

Microscopes magnify the image of a biological specimen so that it appears larger. 

There are two main types of microscope: light microscopes are used to study living cells and for regular 

use when relatively low magnification and resolution is enough. Electron microscopes provide higher 

magnifications and higher resolution images but cannot be used to view living cells. 

 

TASK – Use your own knowledge, the internet, and the images above to complete the table to 

give the similarities and differences between light microscopes and electron microscopes. 

 

Light microscopes Electron microscope 
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Q1.    Figure 1 shows a root hair viewed using a microscope. 

  

(a)  The root hair was viewed at a magnification of ×50 

The image length of the root hair X–Y is 43 mm 

Calculate the real length of the root hair in micrometres (µm). 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

Real length = ___________________________ µm 

(4) 

(b)  A microscope has a ×5 eyepiece lens. 

Describe how to use this microscope to observe a prepared slide of root hair cells at a 
magnification of ×50 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

(4) 
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Week 2 – Science 

 

Mastering Fractional distillation 

 

Crude oil is a finite resource. Petrol and other fuels are produced from it using fractional distillation. 

 

Fractional distillation is used to separate crude oil into simpler, more useful mixtures. This method can 

be used because different hydrocarbons have different boiling points. 

 

TASK 1 – Use your own knowledge and the internet to label the fractionating column. 

 

 
 

TASK 2 – Use your completed diagram to explain how alkanes are separated by fractional 

distillation. 
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Q1.       Diesel is a mixture of lots of different alkanes. 

What are alkanes? 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

(2) 

Q2.  To make crude oil more useful it is separated into different fractions. 

(a)     Complete the gaps in the following sentences. 

Crude oil is separated into different fractions by a process called ______________ 

_________________ . Each fraction has a different ________________________ . 

(2) 

(b)     Each fraction is a mixture of compounds. Most of these compounds are hydrocarbons, 
made up of the elements hydrogen and carbon. 

(i)      Explain the difference between a mixture and a compound. 

______________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

(2) 

(ii)     Explain the difference between a compound and an element. 

______________________________________________________________ 

______________________________________________________________ 

______________________________________________________________ 

(2) 

(Total 6 marks) 
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Week 3 – Science 

 

Mastering Energy Resources 

 

Every person, animal and device transfers energy. Much of that energy is supplied by electricity, which 

must be generated from other energy stores. Some of these are renewable but most are non-renewable. 

 

Renewable resources are replenished either by: 

• human action - eg trees cut down for biofuel are replaced by planting new trees 

• natural processes - eg water let through a dam for hydroelectricity is replaced through the water 
cycle 

A non-renewable energy resource is one with a finite amount. It will eventually run out when all reserves 
have been used up. 

 

TASK 1 – Use your own knowledge and the internet to complete the table about the different 

energy resources. 

Energy 
resource 

Energy 
store 

Renewable 
or non-

renewable 
Uses 

Power 
output 

Impact on 
environment 

Fossil fuels 
(oil, coal and 
natural gas) 

Chemical     

Nuclear Nuclear     

Biofuel Chemical     

Wind Kinetic     

Hydro-
electricity 

Gravitational 
potential 

    

Geothermal 
Internal 

(thermal) 
    

Tidal Kinetic     

Solar Nuclear     

Wave Kinetic     
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Q1.   (a)     The pie chart shows how the electricity generated in the UK is produced using different 

energy resources. 

  

(i)      Which energy resource is used to generate approximately one third of the UK’s 
electricity? 

______________________________________________________________ 

(1) 

(ii)     Name two energy resources that could be part of the ‘Other’ energy resources 
used to generate electricity in the UK. 

1. ____________________________________________________________ 

2. ____________________________________________________________ 

(2) 
 

(b)     A farmer plans to generate all the electricity needed on her farm, using either a biogas 
generator or a small wind turbine. 

The biogas generator would burn methane gas. The methane gas would come from rotting the 
animal waste produced on the farm. When burnt, methane produces carbon dioxide. 

The biogas generator would cost £18 000 to buy and install. The wind turbine would cost £25 000 
to buy and install. 

The average power output from the wind turbine would be the same as the continuous output 
from the biogas generator. 

Evaluate the advantages and disadvantages of the two methods of generating electricity. 

Conclude, with a reason, which system would be better for the farmer to buy and install. 

(6) 
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Week 4 – Science 

 

Mastering Stem Cells 

 

Stem cells in humans 

Stem cells are cells that have not undergone differentiation. A cell which has not yet 
become specialised is called undifferentiated. 

An embryo develops from a fertilised egg. Cells at the early stages in the development of the embryo 
are stem cells. 

If cells are removed from the embryo – called embryonic stem cells - they will differentiate into any cell 
type. 

Some stem cells remain in the bodies of adults – adult stem cells. Adult stem cells are found in limited 
numbers at certain locations in the body. 

Adult stem cells can be found in several regions of the body, including the: 

• brain 

• eyes 

• blood 

• heart 

• liver 

• bone marrow 

• skin 

• muscle 
 

Adult stem cells can differentiate into related cell types only, for example, bone marrow cells can 
differentiate into blood cells and cells of the immune system but not other cell types. 

 

Stem cells in plants 

Cell division in plants occurs in regions called meristems. 

Cells of the meristem can differentiate to produce all types of plant cells at any time during the life of the 
plant. 

The main meristems are close to the tip of the shoot, and the tip of the root. 

 

 

 

 

In a growing shoot, new cells are being 
produced continuously near the tip. As the cells 
become older, further away from the tip, they 
become differentiated – they enlarge and 
develop vacuoles
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Q1.  Stem cells can be used to treat some diseases. 

(a)     What is a stem cell? 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

(2) 

Figure 1 shows a malignant tumour in the trachea of a patient. 

 

  

(b)     Give one way a malignant tumour differs from a benign tumour. 

___________________________________________________________________ 

___________________________________________________________________ 

(1) 

Scientists can treat the patient’s tumour by replacing the trachea with a plastic trachea. 

The plastic trachea has a layer of the patient’s own stem cells covering it.   Figure 2 shows the 
procedure. 
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(c)     In Step 3 the cells are left for 48 hours to divide. 

Name the type of cell division in Step 3. 

___________________________________________________________________ 

(1) 

(d)     In Step 3 the cells are given oxygen and water. 

Name two other substances the cells need so they can grow and divide. 

1. _________________________________________________________________ 

2. _________________________________________________________________ 

(2) 

(e)     Give two advantages of using the stem cell trachea compared with a trachea from a 
dead human donor. 

1. _________________________________________________________________ 

___________________________________________________________________ 

2. _________________________________________________________________ 

___________________________________________________________________ 

(2) 

(f)      Sometimes the stem cell trachea is not strong enough. 

Doctors can put a stent into the trachea. 

Suggest how a stent in the trachea helps to keep the patient alive. 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

(2) 

(g)     Stem cells can also be obtained from human embryos. 

Evaluate the use of stem cells from a patient’s own bone marrow instead of stem cells 
from an embryo. 

Give a conclusion to your answer. 
___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

___________________________________________________________________ 

(6) 
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Week 5 – Science 

 

Mastering Energy Changes in Chemical Reactions  

 

The changes in energy that occur during a chemical reaction can be seen by examining the changes in 

chemical bonding. This can be used to classify reactions as exothermic or endothermic. 

 

During a chemical reaction: 

• bonds in the reactants are broken 

• new bonds are made in the products 

Energy is absorbed to break bonds. Bond-breaking is an endothermic process. 

Energy is released when new bonds form. Bond-making is an exothermic process. 

 

TASK 1 – Use your own knowledge and the internet to complete the table below. 

 Endothermic Exothermic 

Definition 

 
 
 
 
 

 

Examples 
of 

reactions 
  

Labelled 
energy 

diagram 
  

 

 
TASK 2 – Define the term ‘activation energy’.  Add this as a label to your energy diagrams above. 
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Q1.   Read the information about energy changes and then answer the questions. 

A student did an experiment to find the energy change when hydrochloric acid reacts with 
sodium hydroxide. 

The equation which represents the reaction is: 

HCl   +   NaOH  →  NaCl +   H2O 

The student used the apparatus shown in the diagram. 

  

The student placed 50 cm3 of hydrochloric acid in a glass beaker and measured the initial 
temperature. 

The student then quickly added 50 cm3 of sodium hydroxide solution and stirred the mixture 
with the thermometer. The highest temperature was recorded. 

The student repeated the experiment, and calculated the temperature change each time. 
  

  Experiment 1 Experiment 2 Experiment 3 Experiment 4 

Initial 
temperature  
in °C 

19.0 22.0 19.2 19.0 

Highest 
temperature in 
°C 

26.2 29.0 26.0 23.5 

Temperature  
change in °C 

7.2 7.0 6.8 4.5 

(a)     The biggest error in this experiment is heat loss. 

Suggest how the apparatus could be modified to reduce heat loss. 

___________________________________________________________________ 

___________________________________________________________________ 

(1) 

(b)     Suggest why it is important to mix the chemicals thoroughly. 

___________________________________________________________________ 

(1) 
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(c)     Which one of these experiments was probably done on a different day to the 
others? 

Give a reason for your answer. 

___________________________________________________________________ 

(1) 

(d)     Suggest why experiment 4 should not be used to calculate the average 
temperature change. 

___________________________________________________________________ 

___________________________________________________________________ 

(1) 

(e)     Calculate the average temperature change from the first three experiments. 

___________________________________________________________________ 

Answer = _________________________ °C 

(1) 

(f)     Use the following equation to calculate the energy change for this reaction. 

Energy change in joules = 100 × 4.2 × average temperature change 

___________________________________________________________________ 

Answer = _________________________ J 

(1) 

(g)     Which one of these energy level diagrams represents the energy change for this 
reaction? 

Give a reason for your answer. 

  

___________________________________________________________________ 

___________________________________________________________________ 

(1) 

(Total 7 marks) 
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Religious Education  
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Lesson 1 – Key Concepts in 
Christianity 

1. Omnipotent: The belief that God is all ............................................ With God’s omnipotence, 
He 

created the world in six days and on the seventh day, He rested. 

2. Omnibenevolent: The belief that God is all-loving. God loves us so much that he 

sent his one and only Son, ........................ , to save the sins of humanity. 

3. Trinity: The belief that God is a ....................................... God – in three parts: the Father, the 

Son and the Holy Spirit. Each part is distinct and separate, yet of the same 

…………………………... 

4. Incarnation: This is the belief that God came to earth in human  .......................................... , 
i.e. 

Jesus. This is told in the Nativity story in the Bible, where Jesus was born to Mary – a 

…………………………... 

5. Atonement: “At-one-ment” means to say sorry and ........................................ with God for 
your 

sins. Because of Jesus’ sacrifice, humans are able to atone with God for their 

…………………………... 

6. Resurrection: This is the belief that Jesus came back to life after he was 

…………………………... For Christians, this reflects the belief in life after death and 

the Hope of the spiritual resurrection of the …………………………... 

7. Sacraments: This is a ceremony where a person receives 

………………………….. grace. For example, in the Sacrament 

of Baptism, a person’s sins are washed away and they receive 

God’s grace as they become a member of God’s 

…………………………... 

8. Evangelism: Spreading .......................................... to others and to convert 

others to your faith. Missionaries go to other communities and countries 

to tell the world about Jesus and spread the ………………………….. 

(the ‘good news’). 
 
 

 

  

Word Box 

Gospel 

Virgin 

Powerful 

Faith 

Soul 

Tripartite 

Jesus 

Family 

God 

Form 

Reconcile 

Sins 

Crucified 
You will need to learn these words and 

definitions for your exam! In our a) style 

questions, you will have to give a definition 

and an example for each word! 
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The Nature of God 
God is: 

o The Trinity: God is one, but is known through three 

distinct (separate) persons: God the Father, God 

the Son and God the Holy Spirit. This is known as 

the Holy Trinity. 

▪ Jesus said, “I and the Father are one” 

(John 10:30) 

▪ Jesus said, “I am the way and the 

truth and the life. No one comes to 

the Father except through me.” 

(John 14:6) 

o Omnipotent: God is all-powerful and can do anything. In the beginning, God created 

the world and since then, God has been involved in the lives of the people on 

earth. In Exodus, God sends seven plagues down on the land of Egypt to convince 

the Pharoah to let the Jews go free. 

o Omnibenevolent: He loves the world and all the people in it so much that He sent his 

son, Jesus, to teach people about Him and to save them from their sins. God is full of 

mercy and offers forgiveness to all willing to receive it - all who want to reconcile. 

▪ God is, ‘abounding in love’ (Psalm 86:15) 

▪ “For God so loved the world that he gave his one and only Son, that 

whoever believes in him shall not perish but have eternal life” (John 3:16) 

▪ “Nothing…will be able to separate us from the love of God.” (Romans 8: 
39) 

  
Evil and 
Suffering: Some 
people believe 
that the existence 
of evil and 
suffering in the 
world is reason for 
there not to be a 
God. If God is all-
powerful – so can 
do anything, and 
is all-knowing – so 
knows that evil 
exists, then why 
doesn’t he do 
anything about it? 
This is called the 
problem of evil. 
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 There are several Christian responses to the problem of evil: 

1. Good can come out of suffering 

2. Religious communities can help those who are suffering through charity work and 
prayer 

3. Suffering is not God’s fault. It has come into the world because of: 

a. Free will (we choose to do evil) 

b. The ‘original’ choice to disobey God (Adam and Eve) 

c. Human nature not being perfect. We do make the wrong choices sometimes! 

4. Evil must exist in order for good to exist. We could not have one without the other, 

just like we cannot have dark without light, or up without down 

5. Suffering can lead to inner strength and ability to overcome suffering and succeed 

6. Suffering can be a way of participating in the saving work of Jesus, e.g. through 

charity work (Christian Aid) 

 
In the Book of Job in the Bible, God tests Job’s faith by removing all of his luxuries. The 

cause of the evil in this story, is God, however some Christians might say that the suffering 

was part of God’s greater plan and had a true purpose, even though Job could not see it to 

begin with. 

 

Questions 
1. Explain the Trinity. 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
2. What is the meaning of ‘omnipotent’? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
3. What is the meaning of ‘omnibenevolent’? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 
 
4. What is the quote about God’s love from John 3:16? 

…………………………………………………………………………………………
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……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
5. What is the problem of evil and suffering? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
6. Explain two Christian responses to the problem of evil and suffering. 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
7. What does the Book of Job tell Christians about? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 
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Nature of God of Wisdom analysis 
 

   John 3:16 

 

“For God so loved 

the world, that he 

gave his only Son, 

that whoever 

believes in him 

should not perish 

but have eternal life 
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Lesson 2 – Genesis Creation 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

What significant event occurs on each day of creation? 

1 

2 

3 

4 

5 

6 

7 
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Creation: Genesis 2 & 3 
Genesis 2: God breathed life into Adam and put him in 

Eden. God had made the man in His image to keep Him 

company and look after the world. Adam named the 

animals but God wanted to make Adam a companion. 

 

That night, God took a rib from Adam's side and made a 

woman. God told the man and woman that it was their job 

to take care of their new home. 

 

Genesis 3: God warned Adam and Eve to, "Never touch 

the tree in the middle of the Garden. That tree gives 

knowledge of good and evil.  The day you eat its fruit, you 

will die." 

 

One day, Eve was tempted by a snake to eat from the Tree of Knowledge of Good and Evil. The snake 

said that by eating the fruit, Eve would become ‘like God’ in 

knowing right from wrong. Eve took a bite and passed some to Adam. 

 

Eve she had disobeyed God and knew she'd done something wrong. Adam and Eve became unhappy 

and fearful of God. God was sad that Adam and Eve had disobeyed them. He told them that they had to 

leave the Garden of Eden, "From now on you'll have to scratch a living from the soil. You'll need to make 

clothes and grow food. Nothing will come easily -- not even childbirth. And one day, you will die." 

 

1. Summarise the story of Adam and Eve 

 
…………………………………………………………………………………………
…………………………...... 

 
…………………………………………………………………………………………
…………………………...... 

 
…………………………………………………………………………………………
…………………………...... 

 
2. What is the meaning of this story? 

 
…………………………………………………………………………………………
…………………………...... 

 
…………………………………………………………………………………………
…………………………...... 

 
…………………………………………………………………………………………
…………………………...... 
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Genesis Source Analysis 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

Then God said, "Let us 

make human beings in 

our image, in our 

likeness, so that they may 

rule over the fish in the 

sea and the birds in the 

sky, over the livestock 

and all the wild animals, 

and over all the creatures 

that move along the 

ground. 

Genesis 1:26 Now the serpent was 

more crafty than any of 

the wild animals the 

LORD God had made. 

He said to the woman, 

"Did God really say, 'You 

must not eat from any 

tree in the garden'? 

Genesis 3:1 
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Lesson 3 – Creation: Nature and Role 
of Humans 

Literal vs Non-Literal Interpretation 

 

Literal Christians read the Bible and believe each word to be word-for-word truth. For example, in 

Genesis 1 the Bible states that the world was made in six days and on the seventh, God rested. 

Literal Christians would see this to mean that the world was created in six 24-hour periods. 

 

Non-literalist Christians, however, would read that God created the world in six days, and interpret this to 

mean that God created the world in six periods of time, perhaps even stretching over eons. 

Therefore it is important to understand that whilst all Christians believe that the Bible was given to 

humans from God, their understandings of the text might change. For example, some Christians would 

allow for human error or poetic license, whereas others would argue that each word was dictated exactly 

as it is written by God to the writer. 

 

The Role of the Word and Spirit in Creation 

 The Spirit was involved in creation. “The Spirit of God was 
hovering over the face of the waters.” (Genesis 1:1–2) 

 The Spirit of God gave vital life to the vast creation, the term 
waters, signifies the vast expanse of creation, illustrated by the 
boundless expanse of the “waters”. 

 The Spirit, whose omniscience (all present) and omnipotence 
(all-powerful) maintains life and order in the universe. 

 We have an eternal spirit which will spend an eternity in heaven 
or hell. Our Creator is also eternal, because we are made in his 
image we are eternal. We have  the  ability  to choose good from 
evil because we have free will like our Creator.  

 

  

73



Questions 
1. How do literal Christians interpret the Bible? 

 
…………………………………………………………………………………………
……………………………... 

 

2. How do non-literal Christians interpret the Bible? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
3. What might some people allow for when reading the Bible? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 

4. How do literal Christians interpret the Bible? 

 
…………………………………………………………………………………………
……………………………... 

 

5. How do non-literal Christians interpret the Bible? 

 
…………………………………………………………………………………………
……………………………... 

 
6. What might some people allow for when reading the Bible? 

 
…………………………………………………………………………………………
……………………………... 
 
 
7. How was the Spirit involved in creation? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
8. Where will our eternal spirit spend eternity? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
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……………………………... 

 
9. Why do we have the ability to choose good from evil? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
10. What is a quote from the Bible that tells us about the role of the Spirit? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 
 

Genesis source analysis 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

John 1: 1-15 

“In the beginning was the 

Word, and the Word was 

with God, and the Word 

was God… The Word 

became flesh and made 

his dwelling among us” 

Job 33:4 

"The Spirit of God has 

made me, and the 

breath of the Almighty 

gives me life.” 
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Lesson 4 – Jesus Christ: Incarnation 
Jesus Christ, or Jesus of Nazareth, was a preacher who was born to Mary in Bethlehem. For Christians, 

his coming was foretold as He was to be the Son of God. 

Jesus was referred to as the ‘Messiah’, which means anointed one’ and is a saviour to a group of people. 

For Christians, the Messiah was Jesus Christ. Incarnation, therefore, literally means: ‘God made flesh’. 

Luke 1: 28-33: “Do not be afraid, Mary; you have found favour with God. 31 You will conceive and give 

birth to a son, and you are to call him Jesus” 

John 1: 14 “The Word became flesh and made his dwelling among us” 

 The coming of the Messiah was foretold in the Old Testament. 

 Christians believe the Messianic prophecies were fulfilled 
in the mission, death, and resurrection of Jesus and that he 
will return to fulfil the rest of Messianic prophecy. 

 Jesus was considered the Son of God 

 From the coming of Jesus, God is present with his people 
in a new and decisive way. 

 Even as a young boy Jesus was conscious of God’s divine 
call on his life. Jesus knew, even at the age of 12, that he 
was not like other boys. He was called to his 

 “Father’s business,” and that must be attended to, even if 
his parents did not understand. 

 The Bible says, "The child [Jesus] grew, and waxed strong 
in spirit, filled with wisdom: and the grace of God was upon 
Him." "And Jesus increased in wisdom and stature, and in 
favour with God and man."  
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Incarnation: Questions 
1. What was Jesus referred to as and what does this mean? 

 
…………………………………………………………………………………
……………………………………... 

 
…………………………………………………………………………………
……………………………………... 

 
2. What does ‘incarnation’ literally mean’? 

 
…………………………………………………………………………………
……………………………………... 

 
3. What does John 1:14 say about the incarnation? 

 
…………………………………………………………………………………
……………………………………... 

 
…………………………………………………………………………………
……………………………………... 

 
4. What did Jesus know, even as a young boy? 
…………………………………………………………………………………
……………………………………... 

  

77



 

Lesson 5 – Crucifixion: Questions: 
1. What else is the story of the crucifixion of Jesus known as? 

 
The crucifixion of Jesus (also known as the 

Passion) is a story about injustice, doubt, fear, 

pain and, ultimately, degrading death on the 

cross. It tells how God experienced these things 

in the same way as ordinary human beings. 

Christians believe that Christ's suffering and the 

wounds that he suffered play a great part in 

redeeming humanity from sin. 

Another theme is incarnation - the death of 

Jesus shows humanity that God had become 

truly human and that he was willing to undergo 

every human suffering, right up to the final 

agony of death. Another is obedience - despite 

initial, and very human, reluctance and fear, 

Jesus demonstrates his total acquiescence to 

God's wishes. 

But the final theme is victory - the victory of 

Christ over death - and this is why the Passion story is inseparable from the story of the Resurrection. 

Matthew 26: 27-28 “Then he took a cup, and when he had given thanks, he gave it to them, saying, 

“Drink from it, all of you. 28 This is my blood of the covenant, which is poured out for many for the 

forgiveness of sins.” 

Matthew 27: 28-50: “They stripped him and put a scarlet robe on him, 29 and then twisted together a 

crown of thorns and set it on his head. They put a staff in his right hand. Then they knelt in front of him 

and mocked him. “Hail, king of the Jews!” they said. 30 They spit on him, and took the staff and struck 

him on the head again and again. 31 After they had 

mocked him, they took off the robe and put his own clothes 

on him. Then they led him away to crucify him… 

They came to a place called Golgotha (which means “the 

place of the skull”)… 

When they had crucified him, they divided up his clothes by 

casting lots. 36 And sitting down, they kept watch over him 

there.37 Above his head they placed the written charge 

against him: THIS IS JESUS, THE KING OF THE JEWS.”  
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Questions 
 

1.What do Christians believe about Christ’s suffering? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
1. How does Jesus show obedience in the crucifixion? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
2. What is the final theme of the crucifixion? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
3. What does Matthew 26: 27-28 say? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
4. What does ‘Golgotha’ mean? 

 
…………………………………………………………………………………………
……………………………... 

 
…………………………………………………………………………………………
……………………………... 

 
5. What happened after the crucifixion, whilst the guards were keeping watch? 

 
…………………………………………………………………………………………
……………………………... 
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e
 s

om
e
 p

ow
e
r.

 

T
h
e
y 

w
ou

ld
 r

at
h
e
r 

ge
t 

ri
d

 o
f 

e
le

ct
io

ns
 a

ll 
to

ge
th

e
r 

an
d

 c
re

at
e
 a

 C
O
M
M
U
N
I
S
T
 s

ta
te

 
b

as
e
d

 o
n 

th
e
 i
d

e
as

 a
b

ov
e
.

T
h
e
y 

th
in

k
 t

h
at

 t
h
e
 c

on
st

it
ut

io
n 

is
 t

oo
 l

e
ft

 
w

in
g.

 T
h
e
y 

th
in

k
 t

h
at

 i
t’

 g
iv

e
s 

fa
r 

to
o 

m
uc

h
 t

o 
th

e
 p

oo
r 

an
d

 g
iv

e
s 

th
e
m

 t
oo

 m
uc

h
 p

ow
e
r.

 T
h
e
y 

al
so

 h
at

e
 t

h
e
 T

re
at

y 
of

 V
e
rs

ai
lle

s 
b

e
ca

us
e
 it

 
m

ak
e
s 

G
e
rm

an
y 

lo
ok

 w
e
ak

.

T
h
e
y 

w
ou

ld
 r

at
h
e
r 

ge
t 

ri
d

 o
f 

e
le

ct
io

ns
 a

ll 
to

ge
th

e
r 

an
d

 c
re

at
e
 a

 D
I
C
T
A
T
O
R
S
H
I
P 

w
it

h
 

th
e
 K

ai
se

r 
re

in
st

at
e
d

 b
as

e
d

 o
n 

th
e
 i

d
e
as

 a
b

ov
e
.

T
h
e
 W

O
R
K
I
N
G
 C

L
A
S
S
E
S
 w

e
re

 t
h
e
 m

ai
n 

pe
op

le
 t

h
at

 s
up

po
rt

e
d

 t
h
e
 l

e
ft

-w
in

g 
id

e
as

. 
T

h
e
y 

h
ad

 t
h
e
 m

os
t 

to
 g

ai
n 

fr
om

 it
, 

w
h
ils

t 
th

e
 

ri
ch

 h
at

e
d

 i
t.

T
h
e
 U

PP
E
R
 C

L
A
S
S
E
S
 a

nd
 s

ol
d

ie
rs

 w
e
re

 t
h
e
 

m
ai

n 
pe

op
le

 t
h
at

 s
up

po
rt

e
d

 t
h
e
 r

ig
h
t-

w
in

g 
id

e
as

. T
h
e
y 

h
ad

 t
h
e
 m

os
t 

to
 g

ai
n 

fr
om

 i
t,

 w
h
ils

t 
th

e
 p

oo
r 

an
d

 n
e
e
d

y 
h
at

e
d

 i
t 

as
 i
t 

ga
ve

 t
oo

 m
uc

h
 

po
w

e
r 

to
 t

h
e
 r

ic
h
 a

nd
 p

ow
e
rf

ul
.

T
o 

fu
lf

il 
th

e
ir

 a
im

s,
 t

h
e
 l

e
ft

-w
in

g 
h
ad

 a
 

R
E
V
O
L
U
T
I
O
N

. T
h
is

 w
as

 k
no

w
n 

as
 t

h
e
 

S
PA

R
T
A
C
I
S
T
 u

pr
is

in
g:

•
L
e
d

 b
y 

K
ar

l 
L
E
I
B
K
N
E
C
H
T
 a

nd
 R

os
a 

L
U
X
E
M

B
U
R
G
.

•
I
n 

19
19

 a
 r

io
t 

st
ar

te
d

 i
n 

B
e
rl

in
 b

e
ca

us
e
 

th
e
 c

h
ie

f 
of

 p
ol

ic
e
 w

as
 s

ac
k
e
d

. H
e
 w

as
 a

 
b

ig
 s

up
po

rt
e
r 

of
 t

h
e
 w

or
k
in

g 
cl

as
se

s.
•

T
h
e
 S

pa
rt

ac
is

ts
 u

se
d

 t
h
is

 a
s 

an
 e

x
cu

se
 t

o 
st

ar
t 

th
e
ir

 o
w

n 
up

ri
si

ng
.

•
E

b
e
rt

 n
e
e
d

e
d

 t
o 

st
op

 t
h
e
 u

pr
is

in
g 

B
U

T
 t

h
e
 

ar
m

y 
w

as
 t

oo
 w

e
ak

. I
ns

te
ad

 h
e
 u

se
d

 t
h
e
 

F
R
E
I
K
O
R
PS

 (
a 

gr
ou

p 
of

 e
x

-s
ol

d
ie

rs
 w

h
o 

h
ad

 r
e
tu

rn
e
d

 f
ro

m
 W

W
I
 b

ut
 k

e
pt

 t
h
e
ir

 
w

e
ap

on
s)

. 
A

b
ou

t 
2

5
0

,0
0

0
 o

f 
th

e
m

 s
to

pp
e
d

 
th

e
 S

pa
rt

ac
is

t 
U

pr
is

in
g.

 T
h
e
y 

k
ill

e
d

 w
e
ll 

ov
e
r 

10
0

0
.

•
T

h
e
 le

ad
e
rs

 L
e
ib

k
ne

ch
t

an
d

 L
ux

e
m

b
ur

g 
w

e
re

 a
ls

o 
m

ur
d

e
re

d
. T

h
e
y 

w
e
re

 b
ot

h
 

ar
re

st
e
d

 a
nd

 k
ill

e
d

 b
y 

th
e
 F

re
ik

or
ps

 
w

it
h
ou

t 
tr

ia
l 

(L
e
ib

k
ne

ch
t

w
as

 f
or

ce
d

 o
ut

 
of

 a
 c

ar
 a

nd
 s

h
ot

 i
n 

th
e
 b

ac
k
, L

ux
e
m

b
ur

g 
w

as
 b

e
at

e
n,

 s
h
ot

 i
n 

th
e
 h

e
ad

 a
nd

 t
h
ro

w
n 

in
 

a 
ca

na
l)

.
•

T
H

E
 U

PR
I
S

I
N

G
 F

A
I
L
E

D

T
o 

fu
lf

il 
th

e
ir

 a
im

s,
 t

h
e
 r

ig
h
t-

w
in

g 
h
ad

 a
 

R
E
V
O
L
U
T
I
O
N

(P
U
T
S
C
H
)

T
h
is

 w
as

 k
no

w
n 

as
 

th
e
 K

A
PP

 P
U
T
S
C
H
 u

pr
is

in
g:

•
L
e
d

 b
y 

W
ol

fg
an

g 
K
A
PP

, 
th

e
 F

re
ik

or
ps

 t
oo

k
 

ov
e
r 

B
e
rl

in
 in

 1
9

2
0

.
•

K
ap

p
w

as
 a

 le
ad

e
r 

of
 t

h
e
 F

re
ik

or
ps

 w
h
o 

w
e
re

 a
nn

oy
e
d

 a
t 

th
e
 s

tr
e
ng

th
 o

f 
th

e
 

w
or

k
in

g 
cl

as
se

s.
 T

h
e
y 

w
e
re

 a
ls

o 
d

is
ap

po
in

te
d

 b
y 

th
e
 t

re
at

y 
an

d
 w

an
te

d
 t

o 
re

tu
rn

 G
e
rm

an
y 

to
 f

or
m

e
r 

gl
or

y.
•

A
ga

in
, 
E

b
e
rt

 s
tr

ug
gl

e
d

 t
o 

st
op

 t
h
e
 

up
ri

si
ng

 s
o 

h
e
 l
oo

k
e
d

 f
or

 h
e
lp

 e
ls

e
w

h
e
re

.
•

T
h
e
 a

rm
y 

re
fu

se
d

 t
o 

sh
oo

t 
on

 t
h
e
 

F
re

ik
or

ps
 a

s 
th

e
y 

h
ad

 f
ou

gh
t 

to
ge

th
e
r 

in
 

W
W

I
.

•
E

b
e
rt

 t
h
e
n 

as
k
e
d

 t
h
e
 w

or
k
e
rs

 t
o 

go
 o

n 
st

ri
k
e
. 
T

h
is

 w
or

k
e
d

 b
e
ca

us
e
 t

h
e
 F

re
ik

or
ps

 
co

ul
d

n’
t 

ru
n 

a 
co

un
tr

y 
th

at
 w

as
n’

t 
w

or
k
in

g!
•

T
H

E
 U

PR
I
S

I
N

G
 F

A
I
L
E

D

W
h
at

 d
o 

th
e
y 

w
an

t?

W
h
y 

d
o 

th
e
y 

h
at

e
 

th
e
 

W
e
im

ar
G

ov
e
rn

-
m

e
nt

?

W
h
o 

su
pp

or
te

d
 

th
e
m

?

H
ow

 d
id

 
th

e
y 

tr
y 

to
 

ta
k
e
ov

e
r 

th
e
 

co
un

tr
y?

L
e
ft

-w
in

g 
op

po
si

ti
on

R
ig

h
t-

w
in

g 
op

po
si

ti
on

G
e
rm

an
y 

w
as

 r
e
qu

ir
e
d

 t
o 

pa
y 

13
2

,0
0

0
 m

ill
io

n 
go

ld
 m

ar
k
s 

e
ve

ry
 y

e
ar

. H
ow

e
ve

r,
 G

e
rm

an
y 

st
ru

gg
le

d
 t

o 
pa

y 
th

e
 

re
pa

ra
ti

on
s 

an
d

 in
 1

9
2

2
 t

h
e
 G

e
rm

an
 g

ov
e
rn

m
e
nt

 a
nn

ou
nc

e
d

 it
 w

ou
ld

 n
ot

 b
e
 a

b
le

 t
o 

pa
y 

b
e
ca

us
e
 o

f:
1.

T
h
e
 o

b
sc

e
ne

ly
 h

ig
h
 c

os
t

2
.T

h
e
 lo

ss
 o

f 
th

e
 i

nd
us

tr
ia

l 
re

gi
on

 o
f 

th
e
 S

aa
rl

an
d

.

T
h
e
 B

ri
ti

sh
 a

gr
e
e
d

, b
ut

 t
h
e
 F

re
nc

h
 i
ns

is
te

d
 t

h
at

 G
e
rm

an
y 

m
us

t 
pa

y.
 D

ue
 t

o 
th

e
 m

is
se

d
 p

ay
m

e
nt

, 
in

 J
an

ua
ry

 
19

2
3

, 
th

e
 F

re
nc

h
 g

ov
e
rn

m
e
nt

 s
e
nt

 6
0

,0
0

0
 t

ro
op

s 
to

 t
h
e
 R

U
H
R

, t
h
e
 r

e
m

ai
ni

ng
 c

e
nt

re
of

 G
e
rm

an
 in

d
us

tr
y.

 

T
h
e
y 

se
iz

e
d

 c
on

tr
ol

 o
f 

al
l 

m
in

e
s,

 f
ac

to
ri

e
s 

an
d

 r
ai

lw
ay

s.
 T

h
e
y 

to
ok

 s
up

pl
ie

s 
fr

om
 s

h
op

s 
an

d
 s

e
t 

up
 m

ac
h
in

e
-

gu
n 

po
st

s 
in

 t
h
e
 s

tr
e
e
ts

.

T
h
e
 r

e
su

lt
s 

w
e
re

 d
is

as
tr

ou
s 

fo
r 

G
e
rm

an
y:

•
T

h
e
 G

e
rm

an
 g

ov
e
rn

m
e
nt

 t
ol

d
 w

or
k
e
rs

 n
ot

 t
o 

co
-o

pe
ra

te
 w

it
h
 t

h
e
 F

re
nc

h
. 
A

ll 
w

or
k
e
rs

 w
e
nt

 o
n 

st
ri

k
e
. 
T

h
is

 
po

lic
y 

w
as

 k
no

w
n 

as
 ‘P

A
S
S
I
V
E
 R

E
S
I
S
T
A
N
C
E
’.
it

w
as

 a
 n

on
-v

io
le

nt
 p

ro
te

st
 a

ga
in

st
 t

h
e
 i

nv
ad

e
rs

.
•

D
e
sp

it
e
 t

h
is

, 
14

0
 G

e
rm

an
s 

w
e
re

 k
ill

e
d

 in
 c

la
sh

e
s 

w
it

h
 t

h
e
 t

ro
op

s.
•

T
h
e
 w

or
k
e
rs

 w
h
o 

w
e
nt

 o
n 

st
ri

k
e
 r

e
ce

iv
e
d

 m
on

e
y 

fr
om

 t
h
e
 G

e
rm

an
 g

ov
e
rn

m
e
nt

 t
o 

su
pp

or
t 

th
e
ir

 f
am

ili
e
s.

 
T

h
is

 c
os

t 
th

e
 g

ov
e
rn

m
e
nt

 a
 l
ot

 o
f 

m
on

e
y.

 T
o 

m
ak

e
 m

at
te

rs
 w

or
se

, n
o 

m
on

e
y 

w
as

 c
om

in
g 

in
 f

ro
m

 t
h
e
 R

uh
r.

 

Cause Event Effects

•
T

h
e
 M

id
d

le
 c

la
ss

e
s 

lo
st

 t
h
e
 m

os
t.

 T
h
e
y 

h
ad

 s
av

in
gs

 a
nd

 p
e
ns

io
ns

 
in

 t
h
e
 b

an
k
s 

th
at

 w
e
re

 n
ow

 w
or

th
le

ss
. 

W
h
at

 c
ou

ld
 o

nc
e
 b

e
 e

no
ug

h
 

to
 b

uy
 a

 h
ou

se
 c

ou
ld

n’
t 

b
uy

 a
 l
oa

f 
of

 b
re

ad
.

•
T

h
e
 w

or
k
in

g 
cl

as
se

s 
w

e
re

 n
ot

 a
ff

e
ct

e
d

 a
s 

b
ad

ly
. T

h
e
y 

h
ad

 n
o 

sa
vi

ng
s 

to
 l

os
e
 l
ik

e
 t

h
e
 r

ic
h
. 
T

h
e
ir

 r
e
nt

 a
ls

o 
e
nd

e
d

 u
p 

ch
e
ap

e
r 

as
 

th
e
y 

w
e
re

 o
nl

y 
co

nt
ra

ct
e
d

 t
o 

w
h
at

 t
h
e
y 

h
ad

 a
lw

ay
s 

pa
id

, 
ye

t 
w

e
re

 
ge

tt
in

g 
b

ill
io

ns
 i

n 
w

ag
e
s.

G
us

ta
v 
S
T
R
E
S
E
M

A
N
N

b
e
ca

m
e
 

th
e
 n

e
w

 c
h
an

ce
llo

r 
of

 G
e
rm

an
y 

in
 

19
2

3
. 
H

e
 c

am
e
 u

p 
w

it
h
 t

h
re

e
 k

e
y 

so
lu

ti
on

s 
to

 h
yp

e
ri

nf
la

ti
on

:
•

H
e
 s

e
nt

 t
h
e
 w

or
k
e
rs

 b
ac

k
 t

o 
th

e
ir

 j
ob

s 
in

 t
h
e
 R

uh
r 

an
d

 
pr

om
is

e
d

 t
h
e
 F

re
nc

h
 t

h
e
ir

 
m

on
e
y.

•
H

e
 s

ig
ne

d
 t

h
e
 D

A
W

E
S
 P

L
A
N
 

w
h
ic

h
 c

h
an

ge
d

 t
h
e
 r

e
pa

ym
e
nt

 
sc

h
e
d

ul
e
.

•
H

e
 b

or
ro

w
e
d

 m
on

e
y 

fr
om

 t
h
e
 

U
S

A
 t

o 
h
e
lp

 p
ay

 t
h
e
 

re
pa

ra
ti

on
s.

•
H

e
 t

h
e
n 

d
e
st

ro
ye

d
 t

h
e
 o

ld
 

cu
rr

e
nc

y 
an

d
 r

e
pl

ac
e
d

 it
 w

it
h
 a

 
ne

w
 o

ne
 c

al
le

d
 t

h
e
 

R
E
N
T
E
N
M

A
R
K

S
ol

ut
io

ns

•
W

or
k
in

g 
cl

as
s 

w
ag

e
s 

ro
se

 b
y 

ab
ou

t 
10

%
 b

e
tw

e
e
n 

19
2

3
 a

nd
 

19
2

8
.

•
A

ro
un

d
 2

0
0

,0
0

0
 a

ff
or

d
ab

le
 h

ou
se

s 
w

e
re

 b
ui

lt
.

•
H

om
e
le

ss
ne

ss
 w

as
 r

e
d

uc
e
d

 b
y 

6
0

%
.

•
C

re
at

e
d

 b
e
ne

fi
ts

 f
or

 t
h
e
 u

ne
m

pl
oy

e
d

.
•

B
e
ne

fi
ts

 t
o 

fa
m

ili
e
s 

of
 t

h
e
 w

ar
 d

e
ad

 a
s 

w
e
ll 

as
 s

in
gl

e
 

m
ot

h
e
rs

 a
nd

 d
is

ab
le

d
 p

e
op

le
 t

o 
h
e
lp

 t
h
e
m

 l
iv

e
. 

•
T

h
e
re

 w
as

 a
 la

rg
e
 r

is
e
 i
n 

un
e
m

pl
oy

m
e
nt

 
am

on
gs

t 
th

e
 m

id
d

le
 c

la
ss

e
s.

•
M

an
y 

of
 t

h
e
 m

id
d

le
 c

la
ss

e
s 

ne
ve

r 
go

t 
th

e
ir

 s
av

in
gs

 b
ac

k
 a

ft
e
r 

h
yp

e
ri

nf
la

ti
on

. 

Standard
s of 

Living

•
W

om
e
n 

ov
e
r 

2
0

 w
e
re

 g
iv

e
n 

th
e
 v

ot
e
.

•
G

ir
ls

 w
e
re

 g
iv

e
n 

th
e
 s

am
e
 e

d
uc

at
io

n 
as

 b
oy

s.
•

W
om

e
n 

m
ov

e
d

 in
to

 n
e
w

 j
ob

 s
e
ct

or
s 

su
ch

 a
s 

go
ve

rn
m

e
nt

 
jo

b
s 

(c
iv

il 
se

rv
ic

e
).

•
W

om
e
n 

ga
in

e
d

 n
e
w

 s
oc

ia
l 

fr
e
e
d

om
s.

 T
h
e
y 

co
ul

d
 s

m
ok

e
 a

nd
 

d
ri

nk
 in

 p
ub

lic
•

F
as

h
io

n 
ch

an
ge

d
 w

it
h
 m

or
e
 r

e
ve

al
in

g 
cl

ot
h
in

g.

•
T

h
e
re

 w
e
re

n’
t 

an
y 

m
or

e
 w

om
e
n 

e
m

pl
oy

e
d

 
in

 t
ot

al
 t

h
an

 t
h
e
re

 h
ad

 b
e
e
n 

b
e
fo

re
.

•
M

an
y 

pe
op

le
 c

ri
ti

ci
se

d
 t

h
e
 n

e
w

 r
ol

e
 o

f 
w

om
e
n.

 C
O
N
S
E
R
V
A
T
I
V
E
S
 a

rg
ue

d
 t

h
at

 
th

e
y 

w
e
re

 n
e
gl

e
ct

in
g 

th
e
ir

 f
am

ili
e
s 

b
y 

go
in

g 
to

 w
or

k
.

Women

•
A

rt
 a

nd
 l
it

e
ra

tu
re

 c
ou

ld
 c

ri
ti

ci
se

 t
h
e
 g

ov
e
rn

m
e
nt

.
•

A
 n

e
w

 a
rc

h
it

e
ct

ur
al

 s
ty

le
 c

al
le

d
 B

A
U
H
A
U
S
 c

h
an

ge
d

 t
h
e
 

co
un

tr
y.

 I
t 

b
e
ca

m
e
 le

ss
 t

ra
d

it
io

na
l 

an
d

 u
se

d
 n

e
w

 a
nd

 
fo

rw
ar

d
 t

h
in

k
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1. What did the LEFT wing believe in?

2. Who supported the LEFT wing?

3. What happened in the Spartacist uprising?

4.   What is NATIONALISM?

5.   What do the RIGHT wing believe in?

6. Who supported the RIGHT wing?

7. What happened in the Kapp Putsch?

Remedy 1 – History – Weimar Germany

Using the 100% sheet, complete the recall questions and revision flashcards on Left and Right 
wing opposition. 
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Remedy 1 – History – Interpretation skills.

Complete the practise questions for the interpretation questions on Paper 3. 

Summarise interpretation 1: What is it telling you?
Summarise interpretation 2: What is it 

telling you?

Which interpretation does source B support? 

Quotes:

Which interpretation does source C support? 

Quotes:

84



Study Interpretations 1 and 2. They give different views about the challenges facing the Weimar 
Republic in the years 1919-1923. What is the main difference between the views?

Suggest one reason why Interpretations 1 and 2 give different views about the challenges facing the 
Weimar Republic in the years 1919–1923. You may use Sources B and C to help explain your 
answer.

Success Criteria:
Q3b –
• Summarise the Int.
• Quote to support.
• Repeat . 

Success Criteria:
Q3c –
• ‘Give weight to different sources’.
• Summarise the Int.
• State which source it supports. 
• Repeat. 
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Remedy 3 – History – Weimar Germany 

Complete the knowledge revision about the Year of Crisis & The ‘Golden Years’. Use your 100% sheet 
to answer the recall questions, and complete revision flashcards.   

1. Why was the Ruhr an important area for Germany?

2. What was Passive Resistance?

3. How did the hyperinflation effect the Middle Classes/Working 
Classes?

4. Who was Stresemann? What did he introduce 

5.   What was a POSTIVE and NEGATIVE of the standard of living changes 
during the Golden Years?

6. What was a POSTIVE and NEGATIVE for women during the Golden 
Years?

7. What was a POSTIVE and NEGATIVE of culture changes during the 
Golden Years?

Hyperinflation -
CAUSES 

Hyperinflation -
EVENT

Hyperinflation -
EFFECT

Standard of living Women Culture/Politics
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Remedy 4 – History – 12 mark Q skills.

Paragraph 1 -
Hyperinflation 

because: Therefore As a consequence …

because: Therefore As a consequence …

because: Therefore As a consequence

Paragraph 2  -

Complete the knowledge hexagons relevant to the paragraph point. Outline your main arguments for 
all three paragraphs in the BTA section below. ‘Explain why there was a ‘year of crisis’ in 1923’.

Paragraph 3  -

GCSE Pod link
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Geography
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Remedy 1 – Geography

Complete the flow charts to explain the case study facts  

Nepal 2015

7000 schools were 
destroyed 

Nepal 2015

An avalanche on Mt 
Everest killed 19 people

L’Aquila 2009

10,000-15,000 buildings 
collapsed

L’Aquila 2009

University applications to 
the University of L’Aquila 

declines 

Nepal 2015

250,000 tents were sent 
to provide shelter 

L’Aquila 2009

Within an hour, the Italian 
Red Cross were 

searching for survivors 

So what? So what? So what? 

So what? So what? So what? 

So what? So what? So what? 

So what? So what? So what? 
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Remedy 2 – Geography

Urban 
change

Population rise 
causes an increase 

in car ownership

Annotate the hexagons with how they present challenges for UK cities
Use the 100% sheet to link to Sheffield and how they are being overcome
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Remedy 3 – Geography

Some exam questions will provide you with a figure. This will be something 
you have not seen before but will link to a topic you have studied.
The figure below is an image and a newspaper clip from Hurricane Irma in 
the Caribbean, though you have not studied this, it links to your case study of 
Typhoon Haiyan in the Philippines

For figure questions, you will often have to talk about the figure and a case 
study in order to reach a level 3 answer (minimum 4/6 or 6/9)

Image and news 
article above

This question requires 4 things to be discussed – social impact, environmental 
impacts, the figure and your case study
The best way to answer is to make pairs
For example, use an environmental impact from the figure and a social 
impact from your case study (or vice versa)
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Remedy 3 – Geography

Case study information
The sections in boxes are what is needed for the question – remember from 
here you only need either one environmental impact or one social 
The background information and other facts can be used to add detail and 
clarify if necessary  
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Remedy 3 – Geography

Use the case study facts and the figure to plan an answer to this question
You only need to choose one case study fact (as a minimum) and one piece 
of information from the figure (this can either be seen in the image or a fact 
from the news article) 
It can b tempting to use all the facts from the figure, but this is called lifting and you will not 
receive any credit, the marks come from the explanations as to why these are severe effects 

Social or environmental impact from 
Typhoon Haiyan

Social or environmental impact from the 
figure

Why? Why?

So what? So what?

Conclusion – give an overall opinion

Element of judgement – how big of an 
effect is this? 

Element of judgement – how big of an 
effect is this?
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Remedy 4 – Geography

Describing distribution and locations are a key geographical skill

Use the example, compass and world map to help you 

EXAMPLE
Describe the location of Kenya

Kenya is a country located on the East coast 
of Africa. The eastern coast of Kenya meets 
the Indian ocean. Kenya also borders 
Ethiopia and Somalia to the North, Uganda 
to the East and Tanzania to the South.

Describe the location of France

_________________________________________

_____________________________________________

________________________________________________

________________________________________________

________________________________________________

________________________________________________

____________________________________________ 95



Remedy 4 – Geography

Use the T.E.A acronym to describe distribution on a 
graph or map
Trend – what is the general pattern
Example – use some data from the figure to represent 
the trend. This can be data from a graph or locations 
and compass points on a map
Anomaly – something that doesn’t fit the trend (if there 
isn’t one, don’t make one up)

Describe the location of Brazil

__________________________________________

________________________________________________

________________________________________________

________________________________________________

________________________________________________

________________________________________________

______________________________________________

Describe the location of Sheffield

__________________________________________

________________________________________________

________________________________________________

________________________________________________

________________________________________________

________________________________________________

______________________________________________
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Remedy 4 – Geography

EXAMPLE
Describe the distribution of rainfall in the 
UK

The northeast of the UK receives the most 
precipitation in the UK. For example, the 
Outer Hebrides receives the most rainfall in 
with over 3000 mm However, Exmoor is an 
anomaly because it receives 3000 mm and is 
located in the southwest of the UK.

Describe the distribution of sunshine 
percentage in the UK

__________________________________________

____________________________________________

____________________________________________

____________________________________________

____________________________________________

____________________________________________

____________________________________________

__________________________________________

______________________________________

______________________________________
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Remedy 4 – Geography

Describe the distribution of urban population

________________________________________________________________________________

__________________________________________________________________________________

__________________________________________________________________________________

__________________________________________________________________________________

________________________________________________________________________

______________________________________________________________________

Describe the pattern of people moving out 
of London

________________________________________________

__________________________________________________

__________________________________________________

__________________________________________________

__________________________________________________

__________________________________________________

________________________________________________

___________________________________________

___________________________________________

___________________________________________ 98
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